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PEI’I - Jh
GENERAL INTELLIGENCE & REASONING

I. To buld a wall, 254 bricks are
required. Builder has to build 88 such
walls. He 1s having 20,100 bricks &
ordered 500 more. How many bncks
will be requice more ?

(A) 2352 (B{ 1332
6 R 2 (D) 2052
: rom the given alternative words,

select the word which cannot be
formed using the letters of the given

9, If 2 for 40, = for L for
and ‘=" for '=', which one of the
following is correct

- {A) 1512+ 18 -4=40

-(B) 72+9-13+6=80

() 36+4-3x4=23
%ﬂ}56+ﬂ—l4ﬁﬁ=mﬂ

10. Insert the comeet sign and find out
the result :

I EFHEEGHE §=125

word : S L S
h&jsu%%ggs’mwnm — fg;f%? ¢ EH e )
Et!} SENT ED} MEND \ H. 465 _+N.|'434 B o

3. From the given alternative words, b4 5 (A) 57 (B) 37
select the word which canbe formed [0 {C) 35 D) 1
using the letters of the given wond : Dircetions : [n Question Nos, 12 to 14,

CONFIGURATION
{A) CONFIRM (B} CONJUGAL
{C) FINGER (D) GOAT
4.  Alphabets are coded by numbers in
2 reverse order. When unserambled we
will get a word. Find that meaningful
word hidden in one of the responses.
EA} 260181112, 13
By 18.11.26,13, 16
(C) 13, 1T 18 16,26
() 11,1826, 13, 12
5. i the alphahels A to 7 represcal cach
athtr in the reverse order e, A = £,
E=Y.C=X cte, then how “"HOUR®
would be written 7
(A} SLIF (B) SLFl
(CYy SLEI ([} None of these
f. Inia certain code BRIDGE 15 written
as FULGJH. How will FRUIT be
writter in the same code 7
(A) IVLXW {By IUWXL
(C) TUXLW (DY IUXWL
7.  1f DGEJL is coded as 14879 and
KKKLI is coded as 83897, then how

select the nussing number from the given
.-‘] TEs[ISES.

12. 4 %8 20
g 9 3 15
PN
(A) 22 (B) 18 (C) 16 (D) 20
13 IR 16 7
¥5:.25 7
T 2% AR
24 32 65
(A} 19 (B} 15 (C) 13 (D) 14
4. 2 4 6
6 2 4
g Bz
(A 2 (B) 4 (C}6 (D) &
15. P, Q. R and S arc playing a game of

carom. P, R and §, 0} are partners &
is the right of K who is facing West

Then ) 1s facing,
{A) South (B) East
{C) West (D) North

16. Raja took 1 h to travel 2/5 of a
journey. He then took another 1 h to
travel the next 145 of the journey. He

can *HDEGF® be coded ? spent 45 min to travel the remaining
le"l} 96854 Eﬂg 51243 220 km. Find the distance he travell
C% 52134 D) 68349 . it the whole joumney,
8. 1f123=14and323 =22, then 624 =7 (A) 550km (B) 220km
(A} 6D (B) 72 (0} 56 (D) 55 (Ch 330 km {D) 440 km
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Directions : In Question Nos. 17 10 22 7 i -
select the related word/lettersnumbers # ?r:ir::]y_tr[‘:hﬂdm'lmw“g'wuﬁdﬁ it
from the given alteratives. 1 P
- Omnipotent
17. Milk : Cream -+ 7 2. Ot
{A) College : Student J. Omniscient =
(B) Sugar: Salt 4. Omnivorous
(C) Clay : Pottery LA) EE‘]:" (B) 3214
(D) Fruit * Guava : ) 2314 (D) 2143
18. Dog: Py bR 30. Which one of the given responses
{m!l-’, Callltm i B)° Kid Ff?{ll'dlhﬂ 1h.¢ mcﬂnlngfulmderpgﬁhe
(€) Kitten (D) Cub P okl
19. 138 :160;: 144" 2. Paton
[A) 165 (B) 166 3. Sew
{C) 167 _ (D) 168 :J.1 E’Eﬁfk““’
0. 7:72::06:42 A 4500 (B) 5.4.1,2,3
Eg; 2 Eg;i ¥ (C) 1,345 (D) 45313
: : : Directions : In Question Nos. 31 to 34, a
3k D:25::F:2 serles is given, with one term missing.
(A) 36 (B) 49 Choose the correct alternative from the
(i 40 oy 50 given ones that will complete the series.
22. ACE:VXZ::FHl:v el ML IO RO
_ (A) TSZ (B} TPZ
(A) VXZ (B) TvX (C) TSY (D) TRZ
(C) PRT (D) QsU z
: e 32. AMDN, GMIN, _ 7 RMUN
Directions : In Question Nos. 23 1o 28, (A) MPON (By MMPN
tind the odd word'numberletters/number () OMREN (D) ONSU
pair from the given alternatives. - X
23. (A) River (B) Lake ol Gl
(C) Dam () Pond -{m B 6 5 (D) 7
- 2
gy oo o M. 2,6,12,20,30,42,7
(A) 36 {B) o0 (C) 64 (D) 48
(C)  Award (D} Charity =
: 35, A ond B are brothers. C and D are
15, E?; pE (B) O :él::lf}]st.cg.'s E_m} 15 [¥'s rother. How
{D! 1] reld 4] ;
(A)  Father (B) Brother
26. (A) ULEP {B) SERT () Grandtather (DY Uncle
(€} 0OUsQ (D) ACID 36, Five years ago, the ages of Raju and
; LN : : - H]
7. (A} 256671 (B) 257931 Rﬂm'r'r'l'.‘_;I'EH_‘Igd?E:m[Ip :lﬂhI .aﬁhﬁ
(C) 276471 (D) 26539 fﬂﬁﬁﬁf” gt I8 s aia, Wit
; ir ages after 10 years !
28. (A) 3437 (B) 516-8 (A) .27 . (B) 17,35
Q) 216-6 (D) 7299 (€) 15,35 (D) 18,38
] SPACEFOR ROUGH WORK
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(D) %A HEg
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(A) Fmg (B) T
(Tt (D) s

19, 138:1601 1449
m; mj ':ar"m]. 166
{[:r: 168

mﬁuﬂﬁ Gﬁ
(B), 03
(D) 10 1
H
21. D:25:F:?
A) 36
rf::; 4{} M;g

(D)

22. ACE:VXZ:FHI:%

(A] VXZ (B) TVX

(C) PRT By 08U
e - e wiEn 23 9 28 w A fow e P
qﬁ_@}g_mmraﬁrmgmqﬁqu
23, (A) WC (B} e

ey (D) A
4. (A} TW (B) Sww

(C} TR ABy 7H
(B) O f/’ﬁ,

() U1g
(A) ULEP (B) SERT
(C) OUSQ (D) ACID

27, (A) 236671 {B) 25793
(C) "216471 (D}—26539]

28, (A) 1437 BT 516-8 4-(;
(C) 216-6 (D) 720-9

19, ﬁmﬁfﬁawmwnﬁqw
w0 & s e T

L. Ommpotent 2. Omi
3. Omoiscient 4, Omnivorows
(A} 2134 {B) 324
Cy 2314 ¥l 43
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2. "IFFIT
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7 O o R aE
M4,51 3.2 (B) 5.4
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Directions ton ij'i'amﬂ two 40. ; 1 ~are there in thi
st.mnents ﬂmlll %ﬂll l& tlzllgul-ltmn;any triangles are there in this
. You have mmn.-h the statement ;
10 h g, even if it 5 to be at vanance uestion Figure :
7, S, o B Yo, 2, -
assumptions can d afimtelygn-e drawn from Oﬂ.e =
B S toments s(1) A Scientiss workir "
n
mﬁunmmaretn]ml (&) 34 (B) 30 (C) 28 (D) 26
(2) Some Indian %?Lenl15t5 41.  If the difference of odd number of dots
Atk W in America on the opposite side faces of the cube is
Conclusions :(1) Al talented scientists 6, find the figure which is correct:
{2) None  of k Ine?:i]m Answer Figures
scientists is talent
(3) %nmﬂ Indlan scientists Jﬂa Jﬁ ﬁa fﬁ
are kalen E E . H H
_  (4) Some [alemﬁi Indian
— suemm; are working (A) (B) {C) (D)
By (3 only 42. Which figure best s the
5 Lrimi i M‘ {D% M Dnl refaumshlp between Ghee, Fats, Food 2
&
for given ue:s!:una : {M (B) OOG
Stafemen Is nruhCar lu'“h:e :
efficient as an "’ D) @)o
m‘dmaq!
Assumptions : (1) A large numl:mr 43, |11 the given figure, the triangle
le  use represents  Parliamentarians,  the
‘Marutl ar'. square represents Ministers and the
() T[l"f usaclce h':'f circle represents Women. Which
m,,:‘?enfﬂad a1 portion represents parliamentarians
A} Assumption {I{ alone is |mp|1+,,||, who are ministers as well as women ?
EE% Assumption (] ;ah'-m: 15 Jim 1c|t B
5 Asaumptluns (1) and.{I§) iz =
. H.Tﬁ'll.'l! |Lit E o
(D) A:;%:Jmptmnﬂ ['t} and ([l) are
39 Among thrg}[ 'rEL"E w;mswer figures, <
B hEone can be formed from the . (MG (BE (OF (DB
cul oul pieces given below in the 44. ‘R’._represents businessmen. '8
E!!!S;’t“" i “'E- represents rich men. ‘T° represents
: : Igure 3 honest men. Which number will
QE represent honest ngh men 7
Answer Fi ures :
Szl - =
SPACE FOR ROUGH WORK
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(A) (1) GﬁT {4) )
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38, et T W i W
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L H N FH

39, mm%@ﬁﬁﬁﬁﬁmﬁrﬁm
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EQW o B £
(A) 3 (B) 30 (C)28 (D 26

g T & WEE TR W A
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# fa ﬂ#? Eﬁﬁ
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42, o, @, O % 49 g6 B SH
ST e e A
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lemmns N ?Lu:stmn Nos. 45 and 46,

which answer

ure _will mmpie!e the

pattern in the g uestmn igure 7

45,

46

47.

Question Figure ;

Answer Figures :
Al iR
(A By 0 D)
uestion Figure :

VA
& »

nswer bigures : 3

g |
v r[@] @ '*E’ﬂ
Y] (B} T} i
From the given answer figures, select
the one in which the question figure
15 hidden/embedded.
Question Figure ;

Answer Figures :

A B

49. If a mirror is places on the line MN,
then which of the answer figure is the
nght image of the siven figure ?

uestion Figure :

5

Answer Figures :

|| e |k

- (A B © (O

50. A word is represented by only one_
sct of numbers as given in any one of
the alternatives. The sets of numbers
given in the alternatives are
represented by two  classes  of
alphabets 25 in two matrices given
below. The columns and rows of
Matrix I are numbered from 0 to 4
and that of Matrix Il are numbered
from 5 to 9. A letter from these
matrices can be ruprescntad first by
its row and mext by s cofumn, eg,
‘B" can be represented by 21, 33,
etc.. and *R* can be represented by
67, 77 ete. Similady, you have to
wentify the set for the word ziven

) B}  (C) D) : :
48. A piece -n% per s folded and AMAZE'.
punched as shown below in the -
question_ figures. From  the given Of1]2]3([4 slal7]8]e
answer I}}guru m:jmate how it will oIMINIL[QIR] [s]E|T[AIMZ
d FH;JI"W"IEI'H.'I'}EH ilelcinle D G IBIS|RIAIB
tion Fi -
e i 1[R(BICIT]s| [7ITIN[R[K|C
/ %} 1[T[A|D[B|O] [5]0]C[G[E[D
i~ tLIZIWINIE] [9[QIR[S[V]F
Answer Ficures {A) 31,58, 86,95, 88
(B) 68, 00,31, 14,13
M (C) 57,38, 13, 59,31
SPACE FOR ROUGH WORK
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ﬁmﬁﬁﬁmﬂﬁﬂﬁmmﬁ
b e B B
TR o T, B 20, 33 A g
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B EEENEL T
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5. 88"
(B) ﬁrﬁ—ﬁﬁ—}l-—[-#—!—v—*
{C) .57, 58,13, 59,31

31, 58.57.41,13
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FOR VISUALLY HANDICAPPED 45. If day before yesterday was
CANDIDATES ONLY Thursday, when will Monday be ?
(A} Today
39, If water is called food, food is called (B) Day after tomorrow
tree. tree is called sky, sky is called (C) Two days after tomorrow
\ﬁiﬁ, on which of the following grows (D) Day before tomorrow
a frunt ?
(A) "Water (B) Food 46. *Bull’ is related to *Cow"'in the same
(C) Sky_ (D) Tree way as “Horse’ is related to ;
40. 1EA=1,FAN=21, then TAP =" () el ((B) e
(A T o | (C) Stable (D) Meat
kel 47. Which -ene number 15 wrong tn the
4. If CLOCK then given series ? =
RAMESHA =" 21, 24, 3, 41, 66
{A) HAESMAR (B) AHEEMAR {A) 21 {B) 24
(C) SEMARAH (D) MAARHSE {C) 30 (D 41
42. Five children are sitting in & row, 'Ch 48. If the sum of the three numbers
= s sitting next to ‘F* but not next lc}\ which are in the ratio 2 : 3 - 415 990,
‘L' If L is not sitting next to 'F" and then what are the numbers 7
‘' is sitting in the centre, who is \ (A), 240, 360, 480
necupying scat adjacent to *G" 7 . (B) 200,300, 400
(A) Conly (B) CandF s, (C) 230,345, 460
i) landL (D) Lonly (D) 220, 330, 440
43, Therc were 27 monkeys seating on 49, following series how many G,
road fencing. The monkey named e T
‘Raju® was on 1™ position from kT - i
right. Its position from left was DSGKU RDPGKR
(A) 16" (B) 17" NGKDGKTNVQSPOD
(cy 18" 15" (A) 4 (B) 2
44.  Arrange letters to form a meaningful W & RE )
word : 0. How many times 'mll‘a day, the hands
HNAGSRI of a clock are straight ¥
(A} GARNISH -(B) COMPOSE (A) 22 (B} 44
() IMPRESS (D) IMPOSE (C) 24 (D) 48
SPACE FOR ROUGH WORK
10 223 MN3
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i i laant &
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41.
=3

(A} HAESMAR (B)
(C) SEMARAH (D)

41, T TRt | CAFPF
T A b A L & oam

LY CF AR S ST e o
s3E G R H A AT R e
(&) @& C (Bf C&HRF

() 1L (D) L

r
43, mﬂfhﬁﬁmﬂwzréﬁ%&h
T AW W E A d 11d W
& | A d e e
() e S (B) 17

47.
A /
(A) 21

\

45. O 79 8 T I o geeiaan o ot
TSI F S Y
(A) 3T
(B) =% et
(C) & F4 e aw
(D) Tt e e

W “HE W A M W E 3
“OiE" 1 HeY fEEE £ 0

(A) W _ () =
(C) o (D) W

46.

= TE e ° B H T e g
21, 24, 30, 41, 66

(B) 24
(D) 41

48. TG Ui AR A wm A 23 4%
a1 E am 900k, & F w6
AT B 2
(A} 240, 360, 450
(B) 200, 304, 400
(C) 230, 345, 460
(D} 220,330, 440

. Tefefan s 4 G, K, R S ar
WMUELMBEFEL G AR Ty
HE?

DEGKUMGRDPGKR

(C) 30

(C) 15ai (D) 158 NGKDGKTNVQSPOD
' (By 2
44, THEE WE T & T A F ot (D) 1
s (
HNAGSRI 50, 0 ) gl A A € 7
(A) GARNISH (B} COMPOSE (A) (B) 44
(C) IMPRESS (D) IMPOSE () (D} 48
T H1 % fog w
.-""|I
{
§ %
b V
TRl
222 MN 3 T e DA-2013

Bl S L



Cr
'E”:I ,

Part- B
GENERAL AWARENESS
al S[il-i-il'l und1l:rl.rr|t agnculture is known 61. When a single gene controls the
as “Milpa” in - expression  of mare  than  one
(A} Venezuela character, it is said to he
(B} Brazil (A) Heterotrophic (B} Autotrophic
{C}  Central Africa (C) Allotropic (- Pleiotropic
(D Mexico and Central America 62. A real gas can act as an ideal gas in
52, Growth rate of population means (A) Tugh pressure and low temperature
{4) The difference of  growth {E} :lqwm'a:ssErreandTghtemmatum
between male and female. {D} k:gh p@”mﬂlufﬁ AR,
(B)  The difference in population (D) dll i m”mwam":,
between urban and rural area, 63. "’"J:ﬂ,""imgmm special 1_“_':':']'}’ of
(C) The number of bihs per relativity the mass of a particle
thousand peaple. (A) mrig:qsm }u]:lh increase  in
(D) The difference between birth ;gﬁ;,:;._ S Fespect [
and ch:uIth cates: (B) decreases with increase in
53 Relative humidity 1s expressed as velocity,
(A} Grams (B} Kilograms (C) decreases with  decrease in
{C) Percentage (D} Ratio velocity. _
54.  Metamorphism changes rocks’ (D) s '"Ique"[ af 1ts veloity.
A)  structure 64. The motion of the wheels of a
: bullock-cart while moving
(B} texture madﬂf': ;r;aexa::;;ll :mpmunb on the
“:-: I both {#) Emt_1 (B) . (A) Oscillatory and rotatory motion
(D) uctual chemical composition (B) Oscillatory and  transtatory
33, The region famous for many kinds of motion
wine and champagne is (C) Tramslatory — and  rotatory
~1A) Eastern Europe - motion
(B) Westemn Europe (D} Translatory motion only
() Maeditertanean ﬁS.‘_EudasLy_Ez’iis-m_ mstrument used to-
(D) Glass land Ft‘:!mt the ulcers lE: the sglrma;,:h has a
56, Crossiie-0ver nocuts during ong narrow  tube (with o lsmulll
R : Hdowing bulb at one end) which is
{ﬁfl Sl (B) EEE'ME"E = h']t&trtu% m to the stomach throwgh -
{Cy Pachytene (D) Diplotene the mouth contains
57. In which of the following multiple (A) small current carrying wire
epiderinis is found ” (B) “anamrow tube containing watey
{A) Boerhaavia (B) Amaranthus {C)  optical fibre -
(C) Helianthus (D} Nerium (D) a namow tube conlaining some
58, Blood cancer is commonly known as = chemical solution
(B} Leukasmia (A) Single user operating system
(C) Haemophilia H) Nt opeling system
(D) Sickle-cell anaemia } Batchoperating system
(D) Tume-shanng operating system
59. The first stoble product of Ch
thatosynlhesis is 67. The new technology which is
:,ﬂ Bl emerging in the field of computer 13
jB 5 31."*‘ : {A) TC-technology
(B) Sucrose o (B) Parallel processing system
(C) I:']""f-'i]-"h'~‘ﬁl'_"‘1*3“'3 acid {C}  Semiconductor technology
(DY Glueose (D) Transistor technology
6. pH seale ranges from® 08.  Iron rusts quickly in
(Ay 0D-7 (B) 8-14 (A) Ranwater (B) Sea water
(cy 0-4M (D) MNonc (C)}  Distilled water (D) River water
DA=2013 222 MN 3
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(A) SFfmEn
(B} @mie "
(C) W Al :
(Dy Wi i dea s
52, mgmﬁmﬂﬂiﬂ]ﬂﬂﬁ
(A) T % 3 ghg T A) o = s B
(B) mﬂsﬂ“qurﬂnﬁf AR % ] s ﬂ?:ﬁﬁg;:g
o e s g s ) Emﬁaﬁﬁm _
: f[} HE]
@ @m‘ﬂmmﬁmm .
? (A) UF W% % g4y o o
Jﬁd’rﬂm (B) Fewitum % W T | W
mﬁ () ﬂ::ﬁ' (B) ﬁg;ﬂﬁg%mw?%.
ﬂyﬁﬁajﬁr % (L) AT T o |
Eﬁ} T Mﬁﬂﬁgﬂﬁﬂqﬁw%@
(B} A 04, HZE W g e
w'uﬁ{mﬁ it it i S R E o
AT Tt g (A) SEHT #iT guiET iy
aﬁﬁmmmaﬂ?g’ﬁqqg;mq {B) ﬂfﬁﬁmwflfﬁ
FHEEEE ACH @mmﬂ%ﬁ
l[.l'||:l W@q WB) r[f{;w;_[{ﬂ [U‘F =T B e Ea
(C) WHeEmm By e A 63, I TH UW 4 5 W wmwE §

36, ﬁﬁm%e’ﬁnﬁﬂra?
(A H"iq?
{C}) (D) Eq?

57. ﬁﬂﬁﬁhﬂ Fhmj@m@.
pipite s

(A) aiwfam  (B) wmiem
A6y g (D} = @
58. %%ﬂraﬁmaﬁrwmwum

(C)
o~ (D) e wifian,

ﬁmaﬁm%mmﬁ?m’%
(A) Eﬁlfqa]

EE‘; Wﬁ%ﬁﬁw

60. ﬁna}n o E
(A) = (B) 8-14
0-14 (D) = o
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(B) ﬁiﬁﬁﬂﬁl’mfﬁm
(C) g v
(D) it Hiiiiv
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(C) sgaawd (D) & wEr o
DA-2013

P ] QR B s ey



W S
e

e

69,

- 0.

71.
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T4.

T5.

T6.

7.

DA-2013

Iron is prevented from rusting by coating
with zine. This process is called as

{A) Galvanisation (B) Corrosion
(C) Sublimation (D) Reduction

Aerated water contains
(A) 50, (B)
(C) H, (D)
Magmetite is

(A) F&l{ll (B) Fe,0,

(C) Feﬂ:lj () EFE-ID‘;JI'IED
United Nation's appreciation for
better management  of cyclone,
Phalin was awarded in 2014 to the
vemment of
) West Bengal
(B} Andhra Pradesh
{C)  Andaman & Nicobar
(D) Odisha

The Minstry sometimes referred as

“Green Ministry” in India is Ministry of

(A)  Agsculture and ~ - Rural
Development

SE} Environment and Forests

'} Surface and Transport

Development  and

—

NO, .
co,

() Urban

Landscaping
The plants which-grow well, only in
light are known as—
{A) Sciophilous (B} Xerophytes
(C) Heliophytes (D) Epiphytes
Ama Jangal Yojpa (my forest
scheme) a bid to enhance forest
cover in the State was launched in . .
(A} Odisha (By Chhattisgarh
(C) Jharkhand (D)  Assam

A book entitled, ‘The Storics of
Malgudi Days’ was written by

{A) KR, MNarayanan

(B) R.K. Mafayan —
{C) P.M.Bapa-

(D) Abul Kalam

“Ranji Trophy” is given to the sport
persons in- :

{A) Football EB} Hockey

(C) Cricket D) Kabaddi
Anti-Sexual Harassmient Law  (Prevention,
Prokibition and Redressal) Act, 2013 came
into force in India to protect,

{A) Women at workplace

(B) Transgenders (male)

{C) Child abuse

(D) Live-in-partners

14

79. Find the incorrect maich among the

followings
{A) Sir Syed — Aligarh
- Murtza Khan Muslim
University
(B} Dr. B.R, - Ambedkar
Ambedkar University
{C} Pt Jawahaclal — lawaharial
MNehru Mehru
University
(D} Madan Mohan - Banaras
Malviya Hindu
University

80. Special status to Jammu and Kashmir
is given by the Indian Constitution
under the article
{A) 364 (B) 368 (C) 370 (D) 377

£1. Where the Central Food Technology
and Research Institute{CFTR]) is
located 7
{A) Chennai (B} Mysore
(T} Hydersbad ([} Bangalore

82. The study of Drugs and their action
15 known as
(A) Pharmacy (B} Palacozoology
(Cy Phammacology (D)~ Palaeontology

83. Food crops comprise |
{A) Cotton, Tobacco, Sugarcane
(B) Linseed, Castor, Turmeric
{C) Food grains, Pulses, Edible oil
geaids
(D) Jute, Cotton, Chilhes

B4. The first Five Year Plan of the
Governmeént of India was hased on
(A) Leontief input-output model
(B) Hamod-Domar model
(C) Mahalanobis two-sector model
(D) Mahalanobis four-sector model

85,  Which of the followings is pot correct 7
{A) PIL — Public Induced Litigation
(B) CNG - Compressed Natural Gas
{C) SIT - Special Investigation Team
(D) KYC - Know Your Customer

173 MN 3
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(C) FEUE (D) HIE
70. A s ¥ 7 A 8
{A) 30, (B) NO,
©eF H, (D) €O,
1.
(&) Fe,0y 18y Fe 0,
(C) FeCO, (D} 2Fe,0,3H,0
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(D) amEM
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86,

87.

9.

a1.

02,

Which of the following is not helpful
in controlling money supply ?

{A) Free market policy

{B) CRR

{C) Bank Rate

(D} Change in margin requirement

In India, the interest rate on savings
accounts in all the nationalized
commercial banks is fixed by

(A} Finance Minister of India
(B) Union Finance Commission
(C) Indian Bank Association =
(D) Reserve Bank of India

Pegaing up of a currency means,
fixing the value of & currency

(A) ataconstant level

(B) atalower level

(C) atahigher level

{D) leaving it to market forces

The Oil seeds Production Programme
(OPP) was launched in

(A} 1986 (B] 1987
() 1988 (D) 1990

Plan Holiday was declared after
{A) The First Five Year Plan
(B) The Second Five Year Plan
{(C) The Third Five Year Plan
(D}  The Fourth Five Year Plan

Which of the following pair is

wrongly matched ?

(A) Plato — Republic

(B) Aristotle - Politics

(C) Pundit Jawaharlal
Hind Swaraj

(D) Karl Marx — Das Kapital

Mehma -

The concept of “Rule of Law™ is a
special feature of constitutional system of
{A) Britain (B) LL5.A.
_(C) France (D)  Switeerland

DA-2013
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94,

95.

93.

100,

A writ is issued by

(A) a High Coun

(B} a Sub Court

{C) a District Court

(D} an Administrative Tribunal

Usually a big difference is seen in

theory and practice in

{A) Presidential form _ of
Govemnment

(B) Fascist type of Government

(C) Parliamentary form of
Government

(D) Socialist type of Government

Compitroller and Auditor General ofdndia

acts a3 a friend, Philosopher and Guide for -

{A} Public Accounts Committee

(B} Estimates Commitiee

(C) Finance Ministry

(I Committee on
Undertakings

Public

How liberty can be limited 7
(A} By Rule {B} By Law
(€} By Auwthonty (D) By Equality

The frst meetng of the Indian
Mational Congress held in 1835 was
presided by

(A} Shn P.M. Mehta

(B} Shrt Womesh Chandra Bonnerjee
{(C} DE.Wacha

() S.N. Bannerjee

Which one of the following tribal
assemblies was normally involved in
the election of the tribal chief 7

(A) Samiti (B} Sabha

(C) Gana (D) Vidata

During which of the following
penods of “Indian History did the
Kshatriyas have a distinet identity ?
{A)  Age of the Buddha

- (B) Maurya period

(C) Post-Maurya age

(D} Gupta period

The Gandhi's *Dandi March® was a part of
{A) Non-Cooperation Movement

(B) Home Rule League

(C) Civil Disohedience Movement
(D} Quit India Movement

222 MN 3
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Part-C
QUANTITATIVE APTITUDE
101. The cost of making an article s 107. Delhi and Jaipur are 403 km apant. An
divided between materials, labour and express bus leaves Delhi for Jaipur at
D\"'E!']]Eﬂ.dsmthﬂ ratip 3 1 4: 2 IFﬂ‘IE- Smarﬂl;mma[anam[agggpﬁgduf
cost of material ¥ 33.60, the cost of 60 kmvhr. Another deluxe bus leaves
article is Jaipur for Delhi at the same time and
(A} T100.80 (B) 1120 Puns at an average speed of 64 kmr,
(C) T44.80 (o) T2240 - Where will the two buses meet 7
102, A frain running at an average speed of {A) 200 km from Delhi
48 km/hr performs a joumey in 6 hrs (B} 200 km from Jaipur
= 30_min. How long would the same (C) 195 km from Delhi
journey take it afier crossing 180 kms :
L L B) 1Sk o s
{A} T hrs 43 min {'B] 4 hrs 108. A IJH.l'.II'.. EIvEs cﬂmpmmd-AIHEl‘Eﬁl om
3 _ deposits at the rate of 5% for the first
(C) 3 3 hrs (D) 6 hrs45min year, 6% for the second year and 10%
103. The average of the first fifteen natural for the third year. If a deposit amounts
numbers which leave a remainder | o3 12,243 at the end {_*F t_h”'d year,
when divided by 5 is then the initial deposit {principal bwas
(A) 40 (B} 41 (C) 39 (D) 42 (A) £11.500 (By T 10000
iMd. A TV, manufctrer sells  two (Cy 10,300 (D) 211,000
televisions at ¥ 9.9} each. He earmed 109, Ifx=1.75, y= 0.5 then find the value
a profit of 10% on the first one and of 42 + div+ 2 =2
suffered 1074 lﬂﬁb on another. Net loss (4) tq-ll:, B (B) 1600
or puofit BT ! (C) 1625 (D) 16,75
(A)  Iggie profit (B) Iggh loss 110, 1f-2 is a root of 27 — x + k= (), what
(C} eprofit (D) 1% loss s the value gf k2
105, B60% of 50 + 50% of 860 is cqual to (A} & (B) -6 (C) 10 (D) -10
(A) 430 (B) 516 (C) 360 (D) 960 L e e e i i o
106. How long will a train 120 m long take ol T,
to clear a platform 130 m long, if its At gl
speed is 54 km'h 7 (A O Br1 (C)2 (D)-2.
(A) 15% wis (B} '5% _— 2. If p = 102, then the value of
: - plp-—6p+12}1is
(Cj 1‘1531:1.,5 D) 165 secs (A) 1000003 (B 10000008
e d (C) G99997 (D) 9009992
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- ]]3... If 3-[4]2 3 I'_'i! + Cz]' =_|:ﬂ1'!' E o [:]'1 and
a, b. ¢ are non-zero-real numbers,

then

{A) a+h=¢ (B atc=bh

{C} btc=a (D) a=b=¢
114, If2r=h #/r2+ e, (r= 0}, then find

r:h

(&) 132 B 3: 1

(£ Ll (D) 4:3

115, 1fx +y =348, x = y=1/2, then the
cvalue of 8xy (¥ + ¥7}is

Akl (B) 5440
(Cy 5360 (D) 5180
P 1
116 Fi:m;marueqfaﬁ-;\/;— _-\/%
281 3 181 3
(A) —.;’E (8) ——jl'":

1813 B AR
() —fi (D) %}‘E

117. AABC is a right angled tmangle whose

AC=9F HLD L AB and BCE = 16,

CAZ=9 find CD. -
T 12
N 3 B

(CF 3 (o 12

118. AABC s a mangle. D, E, F are the

mid-points of the sides AC, AB and

BC respectively. The circumcentre of

the AABC will be - Fill up this
:pl:;?k with any one of the following :
Circumcentre (B} In-centre
(C) Orthocentre (D) Centroid

9.

120,

irs |

123.

124,

[t_l AABC, £B = 35° ZC = 65° and
the bisector of*2BAC meets BC in X

Amange AX. BX and AB in
descending order.

(A} AB=BX=CX
(B} AB<BX=CX

(C) BX<AB=CX

(D) AB>BX>CX

The number of points in the plane of a
tnangle which are equidistant from the
sides of the triangle is

A1 (B)y2 ()3 (D4

The point of intersection of the
altitudes of a triangle is known as

(A} Centrond (B) In-ccntre
(C) Orthocentre (D) Circumcentre

Let a, fi, 7 be the three angles of a
triangle ABC such thato+p<y.
Then AABC 15

{A) Rightangled (B) Acuie angled
{C)  Obtuse angled (D) lsosceles

If the circumeentre of a tnangle lies on

one of the sides then the orthocentre of

the triangle hies on

{A) oneof the verlices

{B) on the same side of the triangle

(C)  outside the riangle

(DY strictly inside the trangle

The circumeentre and the orthocentre

of a tnangle coincides. Then

(A) the centroid also coincides with them

(BY the centroid will be different °
trom them

(C) the triangle is isosceles

(D) the triangle 15 right angles

SPACE FOR ROUGH WORK
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113. Elﬂ.'1fa-+b]+rj—1a+h4::]r~3ﬂ1'

i, b, ¢ ¥ Sl Hed o
(A) a+h=¢ {B) a+ec=b
(C) b+c=a a=h=¢

Iljﬁ'\jr+h {r#ﬂ;{w

e
Ilﬁ.ﬂﬁﬁ'+y=3‘d§1x-}f=ﬁ.~_ﬁi

Sy (32 + v7) =1 O g Y
(A) 5760 (B) 35440
{C) 5360 A 518D

116. ]4 31}[ ’\/7HTIHEI'IH

F*_TLI__'{E/M
;—3'—{— o) B8

9
117. gﬁ@&mmﬁgwm

'n.{”'

e

[-EP{I"’E'H‘I:;{‘DJ.AB R

B2 —Iﬁ,C‘AE—*'EIﬂTCDmHEfIﬁ‘II

5 12
(A) 75 S @35 o1
K118, AABC o Br@ & | D, E, F #a9r

AC, AB it BC wamsif o wey g ¥

119. AABC 8 /B = 35%, £C = 65° afiy
£BAC F1 B9 X H BC % firem
| AX, BX 3 AB & 308wy 4
=gt Fifar |
(A} AB=BX=CX
(B) AB<BX <CX
AT BX<AB=CX
. _4ET AB>BX > (X
H20. B & wwae | 3 g Bagr 9 el
8 e i, 9 et vy |
4T 1 BT 2 (CT3 (D) 4

121. Bt % witeis] % vy fig ol

E 1
(A) dow (B} iifee &
Lt .

BT wedg

122, o f, y o= frga A
o ot B
(A) mafm
42 S

123. &% s g
£, it fg @ @
H}_ﬁﬁm
(B) st &t 3aft e o
(C) T & awe
(D) B0 & o0 w0 gy

124. wﬁnﬁwwﬁﬁaaﬁrmaﬁmﬂ

T
it AABC =7 & 9
(B) =gT=m
(D) wwfe=

rﬁﬁavﬁ@ T TEET
'I?E!ETW"‘

msc T Oy g | fia . :
Wﬁ Fedt s A i s A
# i = (B) s 18 fir=t 8w |
(4) i (B) i g (C) Pyt el € |
{C) wEdm D) =F G}mgfﬁ‘ﬂamﬁrufmml
TR & faer e
222 MN 3 21 DA-2013



125.

i26.

127.

128.

129.

130,

In the sequence of numbers 7, 9, 13,
19, 27, 36, 49 one number is wrong,
The wrong number is

(A) 13 (B) 19 (C) 27 (D) 36

Wnite the next two numbers
2029
3’ § 3‘2‘ —_
0 45 17
_(ﬂ} ] 16 B 3.5
. 927
(©) nf. 7 D 355

36 workers can do a piece of work in
55 days. 66 workers can do twice of
this work in

(A) 33 days
(C) Ol days

If 10 men or I8 boys can do a piece of
work in 15 days, then 15 men and 13
boys together will do twice the work in

(A) ";}Elda:.-“s (B) IJ% days

(B) 40 days
(D) 44 days

(C) M% days (D) 12 days

Kamal can do a picee of work in
12 days which Debashis can fimsh in
10 days. If they work at it on allemate
days with Debashis beginning, in how
many days, the work will be fimshed ?

. 5

(A) L{r‘;'—' days (B) Hi days
] 4

{(Cy 1 FE days (D 1 I? days

5 15 right angled at B, the
@W of the sides AB and BC
are T3 em and 20 om respectively is

127 em
15.2cm

(Ay 17.2cm (B)
(C) 1235¢m (Do

131.

132.

The diameters of two ends of a
buckel are 20 cov and 10 cm and 1ts
height is 24 cm. The volume (in ¢c)
of the bucket &3

(A} 4000 (B) 4400
5
(C) 4040 (D) 18855
p B m
? of the volume of a right circular

cone whose height is 21 cm and
radius of the base is Ehc radius of the
circleof area 154 cm?, is

Ao
(A) ?Iﬁ%::m- (B) 6275 em’

[C}-.si?%cm-* (D) '."EE%mﬁ

w&ellmg price of it,
2200 . (By %2280

4 S B o s Qcoun of 5k
!
(C)

134,

135.

136,

")}’1 t}ﬂ (Dy T2208
A tabi isDifered for T 300 with 20%
ad 10% off. 1f in addition a discount
of 5% is offered on cash payment, then
cash poes of the table is
(A) T 240 B) I2a
{Cy T20 (D) T205.20

A shopkeeper marks the garments at
such a price that even after allowing a
discount of 12.5%, he makes a profit
of 10%. Find the marked price of a suit
which costs 3 1,470

(A) 71,850 (B} T1.760
(€} 71,800 (D) T1.848
The average age of 3 students is 15 years

and their ages are in the proportion -

2:3: 4. The age of eldest student 15
(A) 2 years t?} 16 years

i -

=



its

. FERH 7,9, 13, 19, 27,36, 49 ¥
Wﬁ#mwm@
(A 13 (B) 19 (©) 27 g&f 36

131. T ael % = Fodl % = 20 o 3y
10 em & 3R 398 24 cm & o amt

ﬂﬂﬂﬁ?(ﬂuﬁ}ﬂﬁ"ﬂ"

L B R - s

P 126. & & 3P 3t e S it | (A) 4000 S 441}1:15 .
99115 () 4040 (D) [335“
T4 gr——
9 9 45 n 132, ﬁmqﬁuwﬁrﬁiﬁéztcmi
Al .78 jod gy {Ii&m S et B 154 om? e’mmm@_;
z; (C) %3—“3 (D) E'% | 2‘5; A e & 58 e fﬁqrm"jjl a
he - s - { 5 | ;
- :I': ' _"|.<| mﬁ;ﬁm EﬁiS:’ ﬁ.qﬁ aﬂ- fzﬂk} ?jﬁ_m] [B] 152?_':”1_1. L
[ FE F |66 O IHE g0 2 i g
} = T T o L 2 .
1 (B) 40 Fe {E} 8175 em” ?Iﬁichf‘g
| TIH ST |{sﬂ;x;4§ﬁm Mmmﬁ;ﬂw?ﬂ?
.}5 _?1 ﬁqﬂmwﬁ";ﬁ'ﬂg’r 15 3meH] O %@%‘“ﬁ mﬁmw | e
i 313 ogsa B sl g e PR W T ey 22280
- ' o % 2,180 2,208.-"
AL b ‘
Mihljiﬁ:r - %ﬁ‘w_fﬁf Emf&aﬁriﬂ'}%? 300 8 5
P4 P LJ? Sl £ | 3R Y 9 5% (
i (Dy 12%R \//’Jﬂﬁﬂr%ﬂ}ﬁaﬁﬁﬁﬁqﬁﬂﬂiﬁrﬂ ‘L{g
= - (A) T 240 (Bl *2I6
Y =mtrsa A D dwmomm ¥ b B 720520
= _—’ﬁmﬁﬁwﬁmh : i M Q!
i T A YF W OO \__ﬁq 'an TEH| W T P e
i ":_{ﬂﬂﬁnﬁfﬂﬂ_fﬁaﬁ?ﬂ quwﬂqﬁ@aﬂ-mmmzﬁ
;ﬂn £OLET A 2 ID%ﬂiFlNﬁﬂT?lf_LﬂﬁﬁFﬁ
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o (A) iHi':{F'-_'T Mﬁ? MYa ) T80 (B) ”ﬁ;_f‘{ N
. 2 N S (e BT T8 QM
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: ; i HEE"I
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f * HE = S =T | L
i Fi?ﬁwmﬂ'}{m ?[};r f "'P X ,ﬁﬁ_w@ (B) 1694 F'{':'
| - CH Ll O |9 23,
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137. If 3 tan @ = 4, then the value of

JsinB-3cosh .
3sinE+EmsEr]3
18 T
(A) = (B) 13
25 18
10 3 Dy 35
138, Value of sin 8 cos @ tan & cot 6 sec @
cosec B1s
(A) O (B} 1
fey Z: (D} Undefined

—

139, In an acute angled tnangle ABC, if
sin 2(A + B—-C)=1 and tan(B # C — A)

=4J3. then the value of ZB is

(A) 60° {B) P

() 52%*' (D) m%ﬂ -
140, The value of cosec? 32°— tan® 58°

(A) O {B) 2

() -1 (D) 1

—

141. Ifﬂﬂﬂ'f_:%tﬂnﬂ

_12
A) 3},& (B}
) e e
P2+ Vi -y

142, [fcc+ b =90, then cosec’ne + cosec’P =
(A) secinn _
(B} cosecia + sec’P

() cosectn cosec’
10

Nemrd
X

T =zarier naess

143, 1f sec’® + tanB =—' then the value

2
ofsec® - tan' is
12
@ 7 B 1
13 .

The - following pie-chart  shows the
estimated expenditure on decoration of
a house whose total expenses are
¥ 1,20,000¢-. Examine the chart and answer
Ques. No, 144 10 147,

144. Fee paid for Architecture

— (A) T12.000 (By 713200
(C) %9600 (D} < 15,600
145. Expenditure on furniture aml curtans
(A) 27,600 (B) 180,000
(Cy 3B,400 (M) 22800

146. How much did they spent more o0
flooring than on grills 7
{A) 1,200 (B} 2400
() 9600 (D) 4800

147. Had the total amount spent on -,
decoration been T 150000/~ how
myeh would have been the expenditure -
on miscellaneous expenses ?

(A} 21A0N Ry 0 ann




-

r |

27 =i - 4sinf-3cos
lue BE L= Eﬂ}sinﬂ+!msﬁ 143, =% sec’d &tanzﬂ' = :_%’ o
1 AH 4 gim 7 . sec™ — tan'0 =T gy 2
18 - g7 . 25 18 12
(A) ;Mg C g © 35 (A} 13 B 1 (©0 ﬁ?—;
135, sin Bcos B tan B oot @ sec § cosec O FeffeT TEAE o T @ owe o
the HH Ry | AT =T R T & o T = :
r 7T B _ T 120,000 § | 9wl s o g
are 0 2 By i A 144 4 147 F7 37 Gf i
KET ]
139, ==y B ABC  § mfr
—  Sn2A+B-C)=1 8RB +C-A)
=+[3 it 2B % WA o Em 2
(A) 60° (B) 300 M
o |
s gvlie
e
Al EEWEES'."’—IEHESE“WWEHEEIP) B
Ay 0 (B 2 (C) -1 @F1 J . L
i i jj,—f,,ks; (A} 212,000 7T 13,200
: 1] = -_riﬁﬂnic':.ﬁ-TmsE="-ﬂi‘ ;‘/II - G 9,600 (D} T 15,600
L = gﬁ of 145. % ﬁ.ﬁﬁw% "
i o 5o S " o 27,600) : B0, F
' = H) ii—_l’— *{:jl--*:: (€) A0 (D 22,800
b, ___.-"J —
an = 3 = %ﬁﬁ?ﬁﬁ{ﬂ?ﬁ?ﬁwwm ]
__/:'{# = FEB (L) 1|'_L.g_},:r st e Fan 9 |
: : (A= 1,200 HB) 2,400 |
I ==« 0 = 90 T cosect + cosecd = (C) 9600 65F 1,800 .'l
onl - - ikl 147, & = w71 S0.000 ¥ 5w i |
oW A seca = % Ay =1 § feaw wd
ure & B ._A:‘E-E'L‘_.H"'S&E‘tll'f_ §a 1 o] o
| = coselacosedp & (A) 21,600 (B) 9,600 41
D) secacosecP (€) 2400 @y 12000 7
— i b —_— — — - — s — —
W
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The bar diagram gives the no. of students in
different collezes A, B, C. D and E. Study
the same and answer Ques. Mo, 148 to 150.

SHKI
A5k
A0 1
LY ]
EILLY] =
1518
JoH
1500k
L
00 j -

@ L m ¢ D E

148, MName the college having maxamum

number of students.
(A E (By C
(C] B (D D

149, Average pumber of students in
colleges A and B is more in number of
students in college [ by how much ?
(A) 0 (B) 3000

(C} 2000 (D) 1000

. The ratio between the no, of stedents

145. By selling 12 oranges for a rupee a
man losses 20%. To pet a gain of 20%,,
the number of oranges to be sold for a
rupes should be
{AY 5 (ByB (C) 10 (D) L5

There are 240 coins in 50 p., 25 p. and
10 p. of which the values are
proportional to 5 - 3.2 1. The number of
25 p. coin 15 '
(A) 90 (B) B0 {C) 75 (D) 50

The sum of three numbers is 21, The

L
second number 15 33-3'% maore than the

first and the third is 60% more than
the sum of the first and the second.
Then the least number 15

Ay 13 (B 17 (O 13 (D) 14

148. Two hollow cylindrical metallic tubes
have equal imtemal volumes. The
external ard internal diameteis of one
of these arc 13 cm and 12 om
respectively and those of the other are
6.75 cm, & om respectively, The cost
of metal for the smaller tobe 15 T 100,

146,

147.

150
in colleges D and E is Find the cost for the larger tube.
(A) 2.5 (B) 5:3 (A) T133 {B} T133
(C) 2:3 (D) 3:2 (C) T 145 (o) F150
i = 2 149, The amount on T 1LOGLDOO
FOR ﬁéi%;?ﬁlTigﬂﬂﬂjféFFED compounded quarterly for 9 months
144, The 1 e hj e at the rate of 4% per a_nnurn'is
i I;*;fﬁ‘fgﬂ h ﬂﬁ,m;m e (A) 71030000 (B) T 1030301
was 24 years, Now they have a child and (Cy 1300301 (@) % £3,30,001
the average age of the family is 26 years T30, If — l_ =< 4 l then the value of
Find the age of the child. -k SR S
(A) 6 years (B} 7 years - yig
() Byesss (D) 5 years (A) -2 (B)D (C)2 (D)4
SPACE FOR ROUGH WORK:
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s, B. C. D, E o ol = den o oot &
ﬁsmqaﬂﬁqaﬂrmmﬁﬁuaar

=7 2 | 50
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5.
%

K] o —
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1 G
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h-fiﬁ,mmmﬁm
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(A) E- @FC (OB (D) D
148 A i b sl & oE # s g

S LD Al 9t e 3 et
0 (B) 3000
{(C} 2000 (D} 10D
Jlﬂ,ﬂﬁEﬁﬁEﬁ%‘ﬁlﬂ’iﬁﬁlﬁﬂﬂﬁﬂﬂ
T AT |
(A} 2:5 (B) 5:3
(C) Z:3 302
o grEanay IerEE & A
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57 26 94 & | e o S T |

100 rpk\»\
T

BT
i)

¥

I
ﬂ*;b*’“’ $ 15 (B

N4
(‘}/]‘
¢

| -\&

(A) 5 _,{,B'f'lﬁ (C) 10 (D) 15

46, 50 14, 15ﬂﬁﬁxmﬂﬁﬂiz¢q_ﬁsﬁ
ﬁ:ﬁﬁlqﬂiﬁlift:_tﬂfmﬁ%l
£ T T S |

(A) 9 (B) 80 (C) 75 (D) 30

| . ﬁqmm‘i @%wgﬂm
0\‘\ e 33-% am%aﬂtj@_m

,L'?’

e weEnal & 7
Eﬁﬁmmaﬂﬁfm o
17 (Y 13 (D) 14
148. "5t wiEw o % I
mﬁaﬂrrﬂﬂ#mh—-ﬁﬂﬁm
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Directions : In Question Nos. 131 to 153,
choose the word n meaming to the
griven word and mark it in the Answer Sheet.

151. Cangd

Ambicuous ¢, Secretive
[ i) i }y{ Misleading
152. Humanity
£ (A} Human BT Friendly
(C) Brutality (D) Haughty
Jﬁf’ Acquit -
T%L]:dgﬂd (B} Locked
(C} Convict, BT Caught. .

Directions : In Question Nos. 134 to 158
four altematives are given for the
Idiom/Phrase underfined in the sentence,
Choose the alterative  which hest

* expresses the meaning of the Idiom/Phrase
and mark it in the Answer Sheel,

154 John is highly qualified for
hut his indecisiveness will
Achilles” heel.
(A) Downfall
() Main setback (D) Strength

155, The proposals were hanging like
Danocles” Sword over our heads.

(A} to immediately work very hard
and  successtully at & new
activity '
to hecome loo excited and
eager about something

the job
be his

-

(8)

{C) an impending but uncertain
langer

B something that you say in order

to emphasize that you agree with

what someone has Jus

(A) ip writing
Titerally and strictly
(Cy forever

(D) certainly

157, He gives himself the airs of 2 rich man.
(A} enjoys being
(B) tries to hide the fact that he is

(G pretends o be,_

AP 'Enasls over the fact that he is
“We potinto het water just because
the accountant divutged our secrels.
(&) fail in one’s efforts

(B 1and in trouble

(C) take the help of

(D) come to nothing

DA-2013

(B Vulnerable pl;int

- s
x_lj_ﬁ‘:-”fwiﬂ carry out your orders fo the fefter—

Part-D
ENGLISH COMPREHENSION

I
y

18

‘_Liﬁ{lf' Murnbai is berter lo any_scaport in
" L '
Tnddia.

—

Directions * In Question MNos. 159 to 168,
a sentence / a part of the sentence is
underlined, Below are miven alternatives to
the underlined part at {A). (B), (C) which
may impsove the senténce. Choose the
correct alternative, In case no improvement
is needed your answer is (D). Mark your
answer irrthe Answer Sheet.

o]

159 wish 1w fon a vacation.

(A)
WEre
C) went

- D} No improvement

(A) is beiter to any olher seaport in
(B) was better o any of seaport in
is better than any other seaport in

(D) No improvement

161, The poor man humbly was AssUring

him that he meant no ham.
4&T insured
(B)  assured

() censured

(D) No improvement

162 By the time [ receiving the fetter, the
“fafe for the interview was already
OVE. -
A3~ reccived the leiter
(B) [ had receiving the letter
(C) { was to receiving the letter
(D} No improvement

163. Despite secing the danger zone sigm,
the young boys jumped over the
fence.

restricted zone
(B) Thigh risk zone

profected Zone
D)

M improvement
164, Aren’t you tired of this never-cnding
rain? '
(A) * incessant
(B) intermittent
1ey continuous
ﬂD} Mo improvemment

222 MN 3
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165. The more they cam, that much they

spend. '

(A} More they eam, more they
spend.

J’,B)’f More they eam, the more they
spend. ;

(C)  The more they earn, the more
they spend. S

(D) No improvement

- | refreshed myself by a cup of tea,
{A)  was refreshed e

(B) was refreshing
refresh
(D} Noimprovement

167. There was no suggestion that the

) _expression
BT offer

(e desire
(D) Noimprovement

d@/"l'uu @n?r avoid 1o speak- 1o
SOITIED

1 ben you both live in the
same house,
(A} speaking 10 someone when you
both live in the same house.
speaking someone when you
both live in the same house.,
speaking with someone when
we both live in the same houses™
Noimprovement ~ 7

(B}
(€)
(D)

Directions : In Question Nos, 169 ta 175.
out of the four altematives, choose the one
which can be substituted for the giver
words'sentences  and  indicate it by
blackening the appropriate oval (@] in the
Answer Sheet_

169, -Cine who believes i

fate. =
ety {A) Believer — _ Fataliat ,

(C)  Agnostic (D) Sceptic
ﬁﬂ}.sﬁ;;;;mt-]m books at the bright side of
Tﬁ_} Pessimist (B) Pacifist

~, Optimist (D} Humanist
Th A list of dishes. i

(A} Cuisine
(C} Buffet

122MN3

19

EE’;A person who Jives by himself
i B&chcinu (B} Recluse B
(C) Spinstero” (D) Priesy v

173, Smugly self-satishi =
(A} Resporzive Complacent
(€L Jovial ) Wity

— i 7
74 A person who makes a scientific

%ﬁbi_rdl_
Omithologist (B)  Orthodoniist

[_5;1.- Anaesthetist (D) Astrophysicist
- i

175 fHaving to do with artistic beay
(A) Aesthetic —TB) Excellence
(C}  Artful ative

Directions : ImQuestion Nos, 176 & 177,
four words are given in each question, out
of which only one word is correctly spelt,
Find the correctly spelt word and mark
your answer in the Answer Sheet.

I76. (A) _tcnasious (B) tenacoius
Mmaciuus '.'@"lmm:inus
1717, (A" massacre

(B) masacre
()  masacere (DY massacer

T

Directions : [n Question Nos, 178 to 187,
you have two brief passases with 5
qeestions following each pussage. Read the
passages carefully and choose the best
answer t cach question out of the four
alternatives and mark it by blackening the
appropriate oval [@] in the Answer Shieet,

Passage - | (Question Nos. 178 to 182)
The: third defect of our civilization is that it
does not know what to do with s
knowledge. Science has given up powers
fit for the pods, vet we use them like small

Lhldren, For example, we do not know
10w to manage our machines. Machines

were made to be s servani3syeLhe fias
erown so dependent on vithat they arc

i his masters.

_a
Already most men spend most of their

lives looking afier and wiiting _upon

machines. And the machi slem
Jnasters. They must b€ fed with ggﬁ andé
given petrol to drink, a%

and (hey must be kept at T

tgmperature. And if they do not pet thei
meals when they expect them, they drow 2
nd fuse o work, gﬂh_u_:LuL_
a2e” and blow up, and sp ruin and
e —_—

T —
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destruction all around them. So we have o
wait upon them very attentively and do all
that we can to keep them in.a good tempes.
Already we find %Wk
or play without the machines, and a time
may come when they rule us altogether.
just as we rule animals.

this brings me to the point at which |
asked, “What do we do with all the time
which the machines have saved for us, and
the new energy that they have given us e
On the whole, it must be admitted, we do
very [ittle. For the-most part we use our
time and energy. to make more and better

machines: but more and better machines —

will only give us still more time and more
energy, and what we do with them ? The
answer 1 think, is that we should try 1o
become more civilized, For the machines
themselves, and the power which machines
have given us, are not civilization but aids

to civilization. : 3

178. How do we use lhn_lg us
EE—SEi—EnC'ﬂ_ .
(A) Intelligently

Like small children
{C) Like machmes
{D) Like ascientist

179. What were thejmachings t or T
{A) For serving men
To be stern masters
(C) To give us extra time
{D) To make other machines

”";Wﬂlim@?mw
Man's servan

(B) Better machines
(C} The maters of men
(D} To give new encrgy

181, What do we usually do with the time
“and’ energy_saved for us by the

hin ‘7—'—-—-———_"#
ﬁ Spend our lives_looking afier
them
d

(B) Make morc an
machines

(C) Become civilized

(D) Rule animals

182. In ':’f they do not get thetr m::ag’ ;

(B} scientists
(D) people

hetter

machines

=(C) gods
DA-2013

Passage — 11 (Question Nos. 183 to 187)

Mast of the products that humans require to
satisfy their 5 and dest a

from_land. Land provides living organisms
with food and shelter. 1t provides for the

bulk of human needs and wapfs such as

foad, clothi | transportation efc.
Land covers onk percent of the total
area of the earth ou of which large parts of

it i not suitable for habitation dug 10 severg
climatic  conditi or itay
topodra e density of the populated

_Wpaiapry:
“Tegions 15 confined to sub-tropical and mII- -

latitudinal zones compusing. of abou @
percent of the tatal population.
i S e e

—_—

183, Most of the product that humans
require to satisfy their needs and
desire are obtained from _
{A) man-made goods
(B) water-hodies
(C} industries

iﬂ}*"ﬁfﬂd

184, Land provides organisms  with

(A) frute and vegetables
ol and shelter

{C)  airand water

(D} sheller and protection

185. Land covers only o ol
the tptal area of the earth.
/m” 30 (B} 20 (C) 03 (D) 33

186, Most of the land is not suitable for
habitation due to .
TA) severe climatic conditions or
favourable topography
(B} pleasant climatic conditions or
favourable topography
severe climatic conditions or
unfavourable topography
(D) harsh ~climatic ¢onditions  or
unpredictable topography

187, Most ﬂt.'lhe En_rgulatmn lives in
{A) hot areas

(B) _cold areas .
/LG—))SL‘;b-lmpica[ and mud-latitudinal
©¢  Zones

(D} only mid-latitudinal zones

232 MN 3



Directions : In Question Nos. 188 to 192,
#me parts of the sentences have errors and
some are comect. Find out which part of a
scntence has an error and blacken the oval
(@] corresponding 10 the appropriate
letter (A, B, C). If a sentence is free from
error, blacken the oval earresponding to
(D} in the Answer Sheet.

fien £y 20 nutfl
(A) -

5h1}[;_'EEn$ they
/

take their pet cat with them.

()

158

Mo emor
(D)

The musuem depicts
(A)
the story of human kind
(8]

on time and space, , No error

ET Dy

-~ :
= oA ou st either pay the bill ;

g (A)

al onee else rﬂlui'_n .

]39’1

BT
the goods immediately. No error
(C} - _ (D)

191 KEﬁgﬁ and evervone of the purticipanE:

15 expected to contribute

B
generously to the cause.  No emror
(C) ]
Each person hold 1t
192, !
: (A)
in frust from God to promote
(B)
the good of mankind.  No EITOL,
(C) CBr -
212 MN 3
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Directions : In Question Nos. 193 1o 197,
sentences are given with blanks to be filled in
with  an  appropriate words{s).  Four
altematives are suggested for each question.
Choose the correct alternative out of the fioer
and indicate it by blackening the appropriate
oval (@] i the Answer Sheet,

193. We should pass a vote of

{B) censure
_ {LE*}/ CEMSLS

(D) censor
194, Children often quarrel

petty 1ssue. ; s
with {(B) on
(C) over (D} for

195. We I‘@Dul some old furniture so

that  the new television set
cnough space.

{A) has (B}  have

A8 had (D) will have
196. After she dicd_he had nothing to live

(A} for (BY at

{C) through (D fom
197. We __in hope that things

will imlmmw_ cventually.

AT live (B) bring

(C)  stay (D} survive

Directions : In Question Nos. 198 10 200,
out of the four altematives, choose the one
which best expresses the meaning of the

Eiven w mark 1t in the Answer Sheet.
198. Comménsurate
LAY Rational (B) Approximate

(C}  Accountable (D) Proportionate

IIW;_Lgu:L_

{A) Laugh (B) Shout
_{C3 Praise (I} Extolled
200. Salacity

DA-2013

(A} Bliss? B 5@; i
() Indecency (D) Co = '
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'Directions @ Each quéstion or ancimpleiy
[ statement is followed by four aliemative
suggested answers or completions. In eaclr case,
vou are required to select the one that comectly
answers The queslion or compleies The statement
and blacken [@] appeopriate oval A, B, C or D
by Black/Blue Ball Point Pen against the
question concerned in the Answer-Sheet.

{For V.H. candidates corresponding oval will
e lackened by the soribe.)

The followiing cxample illusimtes the manner in

» | which the questions are required o be answered.

Example :
Chrestion No, ‘()7 —
Chut of the four words given befow, three an: alike
in some way and one is different, Find the QDD
ward ;
(A Gl
g (B} Boy
(01 Waaman
t[h Chair

Explunation : In the above example, the correct
aaswer 15 “Chair” and this answer has been

|

be tmcicared by blackening [ ] ihe oval by Blieck!
Blua Ball Point Fen in column "1 against

Question Mo, ()’

(Al [B] €] [w]
There Eﬂl}' one cormect answer to cach question,
You should blacken [e] the. oval of the
appropriate column, viz, A, B, C or D. If you
hlacken [@)] more than one oval apainst any one
question, the answer will be treated as wrong. If
you wish to cancel any answer, you should
completely erase that black mark in the oval

supacated @l D Accordingdy the answer 13w

Oeestion Mo 07 e the manner wdecated below ;

[ MANNER IN WHICH ANSWERS ARE TO BE GIVEN

T TR W T S A S & AR A
ST e i S A T 2 | W T S0
Tt T T E W W U S ST weT
T w AT e I W S e
M A, B, C 9 D #i wEAE gz o1 @
Tl (@] FEE

(aleaiin Iefigant & by @ s i
EWT HIAT AT = ()

A o T FEEm Al A e e e v
femer &

FETEA ;

WE .

A T o vt 9 A e e & A U
T T A W E | T HE O e

(A) FIEE
(B) ==
(C) Wl
iy

FOETHTOY W I O I A & A
WD AR R | A TEE T F
4 F ) & VIR EH WA
T T H A FE [(a] 0 3 A g

a7 ST TR A E

R
[A] [B] [C) @)
Ui W9 1 Fa U 6 A S E | ! T

e WA AL B, C W DF SR E@H R
(] F01 € | 9 1T el W % A O W S
HUZFwE W S Wi (@] S S T S
= | afs sy fedd e S S U 8 At A
LA % 3 ASEET S5 A S

the Answer-Sheat and then blacken the oval of e % iy # afv 79 =50 T % AT 3TETER
revised response, EH H T |

You are NOT required to mark your answers m i & szt ey

this Booklet. All angwers mus be indicated in the i ‘[‘_ R ETR‘ W E |
Answer-Sheel only. T o T A A | }
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